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(English Version)

Instructions :

(1)
(i)
({11}
(1t}
(v)

(vi)

(vii)

First 15 minutes are allotted for the candidates to read the question paper.

All questions are compulsory.

Questions no. 1 to 10 are Multiple Choice Type Questions.

Questions no. 11 to 20 are Very Short-Answer Type Questions. Their answers are to be
given in about 10 words (one sentence) each. '
Questions no. 21 to 26 are Short-Answer Type-I Questions. Their answers are to be
given in about 50 words each.

Questions no. 27 to 30 are Short-Answer Type-II Questions. Their answers are to be
given in about 100 - 125 words each.

Questions no. 31 and 32 are Long-Answer Type Questions. Their answers are to be
given in about 250 words each.

(viii) Allotted marks of all the questions are given against each of them.

Note :

1.

2.

3.
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(Multiple Choice Type Questions)

Four alternatives are given for each of the following ten questions. Choose the

correct alternative and write it in your answer-book.
The main event of 1991 in the world was i
(a) Formation of Commonwealth of "I.ndependent States
(b) The Berlin Wall was broken
(¢)  Use of the policy of Shock Therapy
(d) Disintegration of the Soviet Union
Which two superpowers emerged in world politics after the Second World War ? 1
(a) Britain — Japan (b) USA - Germany
(¢) Soviet Union — USA (d) Soviet Union — France
Which among the following nations first adopted the ‘Open Door Policy’ ? 1
(a) China
(b) South Korea
(¢) India
(d) Japan

> PT.0.



4. Which of the following countries is not a part of South Asia ?
(a) India (b) Pakistan
(¢) China (d) Sri Lanka

5.  What is the main function of ‘World Social Forum’ ?
(a) To oppose globélisation
(b)  To support globalisation
(¢)  Neither oppose nor support globalisation

(d) None of the above

6.  The slogan ‘Remove Poverty was given by which Prime Minister of India ?
(a) V.P.Singh (b) Chaudhary Charan Singh
(¢) Rajiv Gandhi (d) Indira Gandhi

q. Who among the following was the leader of the Naxalite Movement ?
(a) Mao Tse-Tung (b) Charu Majumdar
(c) Jayaprakash Narayan (d) Chandra Shekhar

8.  When was the States Reorganisation Act passed ?
(a) 1951 (b) 1952
(c) 1956 (d) 1960

9. Who was the Prime Minister of India when the Mandal Commission Report was

implemented ?
(a) V.P.Singh (b) Indira Gandhi
(¢9 Chandra Shekhar (d) Rajiv Gan dhi

10. When did Goa become an independent state of Federal India ?
(a) 1972 (b) 1973
(c) 1987 (d) 1980
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11.

12.

13.

14.

15.

16.

17.

180

19.

20.

21‘

22.

3

25.

26.

(Very Short-Answer Type Questions)
Write any one impact of the disintegration of the Soviet Union. 2

Highlight any one reason that made the environmental issue a concern of Global
Politics. 2

Write any one cause of globalisation. . 2

Write the name of the agency of United Nations which is related to education

and culture. -2

Mention two permanent member countries of the Security Council of United

Nations. . o 1+1

Mention names of any two-states which are located on the north-east border of

India. : 1+1
What is the meaning of Coalition Government ? 2
What is the main problem of Manipur ? : 2

Write names of such two princely states which firmly opposed annexation into

India after independence. 1+1

When and by whom was Mahatma Gandhi assassinated ? I1+1
(Short-Answer Type-I Questions)

Explain India’s stand on the issue of environment. 5
What do you understand by ‘Common Property Resources’ ? 5
Why is globalisation necessary ? Write in brief. 5

Who was the founder of Bahujan Samaj Party (BSP) ? What was its objective ?  2+3
What is the Atomic Policy of India ? 5

What reasons did the Government give for declaring a National Emergency in

19757 5
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27.

28.

29.

30.

31.

32.

(Short-Answer Type-1I Questions)
Explain the circumstances responsible for the liberation of Bangladesh in 1971. 6

Describe the role of the first Prime Minister of India, Jawaharlal Nehru, in

formulating and implementing the foreign policy of India. 6
What are the causes of dispute between India and Pakistan ? 6
“In India, the policy of non-alignment is still relevant.” Support this statement. 6

(Long-Answer Type Questions)

When was ASEAN formed ? Write the names of its any four member countries.

Discuss the relationship between India and ASEAN. 1+2+6
OR
Analyse the rising influence of China in the world in the present context. 8

When was the First Five Year Plan implemented ? Which factor was given more
emphasis in it ? How was it different from the Second Five Year Plan ? 1+3+4

OR i

Explain the consequences of National Emergency on the grounds of

Fundamental Rights and Executive — Judiciary relations. 4+4
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